Canonbury Home Learning

Year 6 Maths

Developing/ Expected/ Greater depth activity

Lesson 3

LO: TBAT solve word problems.

Task: This week you will be designing a Lunar theme park.

Success Criteria:
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1. Complete yesterday’s costings activities.

2. Decide on an entrance price.

3. Multiply the cost by the different visitor numbers.

Use long multiplication to find the visitor costings.
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Canonbury Home Learning
Year 6 Maths
Main activity
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Create, discover and succeed together

Task 1 Task 2 Task 3
Problem solving Arithmetic Project
TBAT find number patterns and sequences. Work out the entrance fee for visitors.
16— 20 = A
Q1. Lunar THEME PARE fic
Write the missing numbers in the sequence -
3. Decide on a price per persan to enter your theme park.
iz st make it cheag ancugh Lo aliract vistees but snough ko maks a
6,742,000 6,842,010 6,942,020 araft
236 -30x6= Decide an your price and anler il here £
Q2 R T A [ N [ e
Whrite the three missing numbers in the empty boxes.
1 234 16 854
+10 ——
368,701 + 10,000 + 10,000 = 2 132 i7 7s
+10,000 45170 45,180 45190
55170 3 264 18 855
65,170 4 358 19 964
5 433 20 433
2954 x 9=
6 253 21 75
7 176 23 43
Qs 6 3,300 + 30 =
Write the missing numbers in the sequence. ¢ = = e
9 524 24 473
10 73z 25 2E57
467,050 468,050 469,050
7 328,088 + 75,253 = o . 26 -
12 [tz 27 7443
Q4. ) o o 13 395 28 B4GS
Write the missing numbers in this sequence.
14 265 29 7423
247 248 249 8 42000+ 70 = 15 158 30 9426




